q§0p§03C:e320(03: Rq¢egoloiopdiial
JB-R-JoJ5 qodes mseapadiydedlgamcigmcs

o |edleod 3305 200000 200000
J JedTog 35 30000 2J000
2 |epseco 35 Q@000 90000
g |8 B3 Qoooo QJooo
9 |83 (2egp) B5 gBooo G000
6qJ: (oqze42C)
G |eo3 o/§ JeBgo00
Q |00f: ofc§ 2949000
© |0d3eqcl o/} JRG9900
@ |e0000050 o/n§ 292600
50 [50385: o/§ 5995q00 5gEOR00
00 (Ocg§i(g| of§ 9gEORE0 JOGJR00
o) |0cgd: o/} O@RP Joo Jog5500
R [R0B30 o/} 9gEORE0 JOGJR00
oG |0¢6 o/>§ 0066 Joo 0E00QOO
59 [egoSied /0§ Bo6goo Bgooo
o8 |ape0a:0{gied:(o o/} JggoBoo JBg5q00
0q [g§028/(g0 6/n§ 0@oB000 OEQORO0
o0 [0 o/§ 2960600 2J50000
©2:06300C %t (096¢6§2C)
og |[305p48 80003 0900 Jooo
Jo [0303335(g (231020%) 8000 20300 20900
Jo (030599851 (qS=) 80003 Qo0 Eooo
2 [ 8000 Qooo
R |98 8o 50000
J5 [ca059p3(0§:4) 8000 9900 9900
J9 [cqod¢(=0oEgIg$:) 8o00o CREE 20000
©23829:30
16 [e[gos8 8o 56000
1q [55:8 8oooo 56000
1o |0oi58:3 8o B0
Je |ealcon (o0deqp) o6
20 |ealcon (eepliaqyp) o6




Rqgesainrgenddte ja-2-Jos og dmqqies
®:>:(fseaooc°::>3s§q_|o:® (02682000) mﬁmo:eq:ﬁ%:eﬂo:

s@qjsepd eqOROQ ‘ eqEss (070)
§9 9¢
0qJ:¢ (opqe4C)
o[e050 82000 GOGo
J C)o(c::ce 820 oo
2[0Beqdl 82000 00
6|e0000050 82000 9409
9[00388 8200 90 2J90
Bloogdg1 Boox RU90 %9
q[0cg§:§ 8000 2269 R5J0
REEED Boox RU90 R
[0S 8200 Q000 Q0o
00[0p000:0[g|%:(05 Boox 5089 539
00g§028/[g0 82000 2990 20
o2J|9] 820 9990 9500
0Q[@2:60050 82000 990 9500
oG |rc:0[gé: 820 9500 9900
o9[egocead G200 2060 2060
(0305933%
o6[&85[g)q05 82000 Jooo
2q|a83(g)(co05[08:) 82000 Jooo
o0 [a83[y) (mor3:o$) 8oomo Jo0o
og[88[g|(co05egp) 8200 2qo0
Jo @f:"li) (006)qud 8oomo Q000
P @Ezlé(coog)@:) 8200 Q000
1J @f:"li) (mor3:o$) 8oomo 900
R [9‘(‘:"!5 (cocdegp) 82000 Jooo
(030585(1
150310905965 82000 00900 00800
J9[esoCo§on:- 8200 Q900
JB[eamaEodioni-o 820 0500
Jq|esenEodeoni-¢ 82000 0900
Jo|ea@Cogsconi-9 8o @000
€qO3:
i @3&% (02a5500) AC 82000 9000 9Joo
Q0[0§:q (008) AC 8oomo 9500 9900
o] [ c;oo:é(?@@) 82000 - -
2J[soEgrog§: (206) 8oomo @900 20000
23[lg®0 (9)o0d 82000 ©000 @000
o§oqpSi:
5 [e§0qpS:a3:9Sans (006 82000 500 500
29[e507p5:38:300008 (200) 82000 GJoo gGoo
@OC\R:
QG GIBS’.)EO%:Al 82000 felelele]
2q| e@oos:0K 82000 2Goo
20[eod: S1 8ooo 2Boo
Q@[ e3Cos: S2 Boooo )




